

			Vendor Ranking		Page 1 of 1
Letting:	03180913	Octobe 04, 2018 02:00 PM	Call Order: 007	Contract:	E3S09
District:	District 3		Counties: WALTON	Fed Aid No	<b>b:</b> N/A
Contract Time:	06/30/19 CC	OMPLETION DATE		Project(s):	42214327232 (*)
Contract Desc:	PONCE DE	LEON MAINTENANCE - SR	83 AND SR 20 BANK AND SHORE		

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SERUR DEVELOPMENT, LLC	Responsive	Winning bid	\$186,155.00	100.00%
2	NORTH FLORIDA CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$348,550.00	187.24%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes. NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY.



## **Tabulation of Bids**

Page 1 of 3

Letting:	03180913	October 104, 2018	Call Order:	007	Contract:	E3S09
District:	District 3		Counties:	WALTON	Fed Aid No	: N/A
<b>Contract Time:</b>	06/30/19 CON	/IPLETION DATE			Project(s):	42214327232 (*)

Contract Descr: PONCE DE LEON MAINTENANCE - SR 83 AND SR 20 BANK AND SHORE

Improvements under this Work Document-Driven Contract consist of the placement of Bank and Shore Rubble as well as Ditch Lining Rubble along SR 83 (US 331) and SR 20 in Walton County. This rubble will be used to fill, re-contour and restore eroded slope and ditch bottoms, which begin at a point approximately 25 feet from edge of pavement or approximately 10 feet behind the existing guardrail extending to the toe of slope or bay infringement. All work is to be performed within the roadside area between the State road and landward of the mean high-water line. No equipment or materials are permitted at any time waterward of the mean high-water line. Periodic lane closures will be required. Lane closures may be performed between 8:00 am and 3:00 pm with prior approval of the Engineer. Removal and replacement of guardrail may be necessary to accomplish dumping and spreading of rubble. All guardrail to be replaced at end of each work day. Mobilization, Maintenance of Traffic and removal & replacement of guardrail shall be incidental to the pay items listed.

	e No / Item ID Description	Alternate	Quantity Units	(1) SERUR DEV LL		(2) NORTH CONSTRUC			
	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	SODDING (SY)						
0005 FLOAT	0104 11 ING TURBIDIT	Y BARRIER	1,500.000 LF	45.00000	67,500.00	20.00000	30,000.00		
0010 BORRO MEASU	0120 2 2 DW EXCAVATI JRE	ON, TRUCK	315.000 CY	35.00000	11,025.00	30.00000	9,450.00		
0015 RIPRAI	0530 3 3 P- RUBBLE, BA	ANK AND SHOF	1,450.000 RE TN	65.00000	94,250.00	200.00000	290,000.00		
0020 RIPRAI	0530 3 4 P, RUBBLE, F8	kI, DITCH LININ	22.000 G TN	65.00000	1,430.00	300.00000	6,600.00		
0025 BEDDII	0530 74 NG STONE		30.000 TN	65.00000	1,950.00	250.00000	7,500.00		



## Tabulation of Bids

Page 2 of 3

Letting:	03180913	October 04, 20	18 <b>Ca</b> l	ll Order: 007		Contract:	E3S09	
Line No / Item Item Descripti		ate Quantity Units	(1) SERUR DE LL		(2) NORTH CONSTRUC			
() indicates item	is bid as Lump Su	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN: 0001	SODDING (SY)						
0030 0570 1 PERFORMANCE		500.000 SY	20.00000	10,000.00	10.00000	5,000.00		
0001	SODDING (SY)	Section Totals:		\$186,155.00		\$348,550.00		
	Contract	Grand Totals:		\$186,155.00		\$348,550.00		



## **Tabulation of Bids**

Page 3 of 3

Letting:	03180913	October 04, 2018	Call Order: 007	Contract:	E3S09
		120.57(3), Florida required by law wi a waiver of procee	ile a protest within the time prescribed in Statutes, or failure to post the bond or ot thin the time allowed for filing a bond sha edings under chapter 120, Florida Statute O AND EXECUTION CONTINGENT UPC	her security Il constitute s. NOTICE OI	